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BUSINESS MATHEMATICS-II
Paper-BC-205

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is.compulsor
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1. (a) In how many ways can the letters of the word
“THURSDAY” be arranged so that R, S, D always occur
together ? 4

2 9
(b) Find the middle term(s) in the expansion of (— + %]
X

(c) Solve the following inequality graphically :
2x <6 - 3y. 1710

(d) Explain briefly any two methods of collecting “Primary
Data”. 4

(e) Represent the following data by a Histogram :

Age 14-16|16-18 |18-20 | 20-22 | 22-24|24-26
Groups

No. of 40 90 120 60 30 10
Students

4

(F) ‘THURSDAY %= &% 33870 1 fHad "R 9

et fpar s W& ar ¢ foag f&F R, S, D s99m
Th HIY Y@ Sra?

N9
(@)(%+%) # fomr & O v &1 9| Sifea)

(M fA=afafaa s@mEar =1 mifess g0 8 sifsg

2x =6 — 3y

(=) ‘wufaw STHS '’ FI THEST B H fH=l G fafuat

T H9 H AT RifAC

(&) fe=mm g F=Afafaa swsi 1 33w

3mg  [14-16 | 16-18 | 18-20 | 20-22 | 22-24 | 24-26
ke Sl

B W1 | 40 90 120 60 30 10
RSESIN
2. (a) If"™*!C, ,:"C,=11:6and”C,:"~1C, | =6:3, find
n and r. TV2
(b) In how many ways can a hockey team of 11 players
be chosen out of 15 players so as to
(i) include 3 particular players
(ii) exclude 2 particular players.
Also find the number of ways in which 11 players can
be selected out of 15 players. V2
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(%) afg ””Crﬂ :"C,.=11:6 3R "C, " lCr 1 = 4. (a) Find the solution set of the system of linear in equations

6:3, n 3N r I@ HifwW graphically :

(@) T Biwl 3\ & 15 faonfsal § @ 11 faenfgar &t 2x+3y <6, x+4y<4, x,y20. 5
ffm ¥R @ I W ww@ ¢ @fw (b) Solve graphically the following linear programming
(37) 3 fauiw faanst wonfoer =0 problem :

(@) 2 faviw faenst sz @

Maximize Z = x + 2y
subject to constraints :

wa & 15 feefedt ® w11 feenfeat w1 x+y<20,2x+y<30, x<25 x y20.

mﬁ@aﬂ%ﬁaﬁa@r’ﬂ@ﬁaﬂﬁm
s\\Q (%) Ufps &9 @ Was STEAAAIRT YoTell 1 IHEE

(a) The 2nd, 3rd and 4@4 erms in the expansion of | 4 FHifsa)
(x + a)* are 240, 7@nd 1080 respectively. Find the
al f x, . : . ine.i 7Ya
values of x, a https://www.kuonline.in 2 2+ 3y <6 x+dy<d x, y30.
(b) Find the term independent of x in the expansion of (@) ufph &9 ¥ = Waw dofdn wwen w1 e
10
Vx 3
N AR SRIHTH Z = x + 2y
ENGERED

(F) (x + @) & famr 4 g, = ik =Y 95 o
240, 720 3R 1086 ¥l x,a 3 n & T H I

Hifg| S. A dietician has to develop a special diet using two foods P
and Q. Each packet (containing 30 g) of food P contains 12
units of calcium, 4 units of Iron, 6 units of Cholesterol and

X+yv<20,2x+y<30,x<25,x,vy=20

10
&:)) (ﬁ + i?”] FHAER § x & @dw T 6 units of Vitamin A, while each packet of the same quantity
V3 2x of food Q contains 3 units of Calcium, 20 units of Iron, 4
— units of Cholesterol, and 3 units of Vitamin A. The diet
requires atleast 240 units of Calcium, atleast 460 units of
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Iron and at most 300 units of Cholesterol. How many packets
of cach food should be used to minimize the amount of
Vitamin A in the diet ? Find the minimum amount of Vitamin
A graphically. 15
UF 3R favaw % 2 @@ umgl P AR Q w1 IwAm
FF TH fav9 AR TR FTN T WA P O®
UI® Y2 (30 U™ Fa) ¥ wfewrrm w12 gz,
AE F 4 IR FERE F1 oo A s fafasoaA
F 6 Yz &, wARE WM Q ¥ WEM W ® #2.W
#feymm &1 3 A2, ™A H 20 gfA2. FEEEF 4
gfiz v faafma A #1 3 gfae vfwa 2 IR ¥ FW
q F7 240 e wfewram &1, @AW F1 s § afuw
460 JFZ IR ForIa | _AIF T 300 3R
#1 smEavgEa ¥l 1 AR IR A ) i w1 wu

+EH & fau y@s qvH & fead Yme &1 SyEm fea
s =fewi wifees w9 § faafma A &1 a9 7= 9|

I

6. (a) What do you mean by exclusive series and cumulative

frequency series ? Explain with the help of an example.

(b) Convert the following frequency table into (i) less thai

form (i1) more than form.

10

Marks |0-10| 10-20[20-30 | 30-40 | 40-50| 50-60

No. of 3 9 15 30 18 5
Students
26255//KD/483 [P.T.O.

5

(%) A9aSl Hoit 3 GG IRa H@ U 3MGHT =N
Afaura €7 ISR H WA § AT HifAU
(@) frafafaa smafa aifas =1 aged (31) &9 ®9 F

() afs ® 9 A

AF | 0-10 | 10-20 [20-30 | 30-40 | 40-50] 50-60
e w| 3 9 15 30 18 5
e

7. (a) Represent the following data by means of a Pie

TVa

diagram :
Items Cost (in '000 Rs.)
Cost of Bricks 50
Cost of Cement 60
Cost of Labour 30
Cost of Timber 50
Miscellaneous Expenses 10
Total 200

(b) Draw a Sub-divided bar diagram of the following data :

Year 2014 2015 2016
Wheat 10 I 14
Rice 8 9 13
Sugar 6 8
Total 24 27 35
72
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(%) F= el &1 R A@ % WEH ¥ WEa S (%) frafafaa 21 & fou ‘dror @ sifus’ a% sifed

A T ('000 . ) HIfS
3 H G 50 | 10-20| 20-30 | 30-40 | 40-50|50-60 , 60-70| 70-80
HHgz &t v 60 =
g9 HI AT 30 sgfa 8 15 20 35 | 12 7 2
FqFE HI ATTE 50
fafay @+ 10 . e s
(@) mfss w9 9 freafafga snsst 1 gwize .
A 200
EL | 2012|2013[ 2014 | 2015|2016 | 2017|2018
. \ R 200 | 180 | 110 | 250 | 270 | 170 | 230
(@) Feafafga st = 3“'?&@3 AR ARG AR 00023 H)
HifSu : Q 2
AR e 18 7 10 20 | 25 1 15
PN . .
KL 2014 \©° 2015 2016 (000%. H)
w 10 & I 14 _ _ ,
3 % 5 13 9. The table given below provides the production of number
- of pairs of shoes (in thousands) by six shoe companies
Al 6 7 8 between 2014 and 2018. Answer the questions given below
A 24 27 35 it
. ., . Company Year
8. (a) Draw a ‘*More than Ogive’ curve for the following data : 014 20 20 2017 3018
Class 10-20| 20-30| 30-40| 40-50] 50-60 | 60-70| 70-80 201 2015 2016 201 201
Interval A 115 160 145 229 169
Frequency 8 15 20 35 12 7 2 B 318 205 188 206 218
72 C 196 218 190 247 259
(b) Represent the following data graphically : D 145 289 235 274 278
Year 2012 | 2013|2014 |2015 |2016| 2017 2018 E 157 299 246 308 268
Quantity 200 | 180 110|250 | 270 | 170 | 230 F 235 310 266 332 295
(1n '000 tonnes)
Price 18 7 10 20 25 11 15
(in ‘000 Rs.) (i) Find the approximate percent increase in the production
72 of company E from 2016 to 2017.
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(ii) Find the average production (in thousands) of all the

companies in the year 2015.

(111} The total production of Company A for all the given
years is what percentage of the total production of
Company B for all the given years ?

(iv) What is the difference between the total production’of
all the companies in year 2018 and the total production
of all the companies in year 2014.

i §§ E afas ® 2014 ¥ 2018 ® Hl9 BT @

ERIEE '%wm(m"%a&m’ 2 fxu & A=

ﬁquﬁmmm\@

¥
\(\(b'
= N

2014 [3°2015 | 2016 2017 | 2018
A s 160 145 229 169
B 318 205 188 296 218
c 196 218 190 247 259
D 145 289 235 274 278
E 157 299 246 308 268
F 235 310 266 332 295

(F)2016 | 2017 dF WA E & IUEA T 9
gfaea gfg 3@ s
(@) a9 2015 § O FWAAE & IF9d IAEA (B9 H)

FH TG HifT)
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(M) T MU wedt aN H FWA A F FA IARA KU M
et a9l U WA B % &A IARA & fhaw
e 22

(9) 99 2018 ® |t FWEAE F FA IURA W W
2014 9 Al FofEl & FA IARA F I H:
AW F E?
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